PUBLIC SCHOOL DARBHANGA

MATHEMATICS

CLASS:VI

-

( Topic : AdditionandSubtraction of Integers A

N J )
Find the new reading for each thermometer, if there is a
1) riseby13°C. 2) fallby26°C. 3) riseby45°C. 4) fall by8°C.

C C C C
20 -0 __ 40 _ 16
g = &+ "
— 14 = = 20 =
L = = = 4
— = = 10 = 0
— 10 = -20 = = 4
-8 = 25 =0 =
- 6 = = -10 =
T = -30 = =
4 = 1 =12
= = -35 =20 = -16
-0 = -40 = -30 = 20

5 fallby28°C. 6) riseby31°C. 7) fallby14°C. 8) riseby20 C.

C C C C
15 -4 14 _15
= 1 - 12 = 10
9 — 10 =
— - = 3
C 6 8 =
F 3 - 6 =
-0 — 4 = -5
- -3 -2 = _10
- -6 -0 =
- 9 - -2 = 15
- -12 - -4 = 20
E -15 - -6 = -25

/




Answer key

( —— : N
~ L Topic : AdditionandSubtraction of Integers D, ~
Find the new reading for each thermometer, if there is a
1) riseby13°C. 2) fallby26°C. 3) riseby45°C. 4) fall by8° C.
C C C C
_ 20 —_ 0 — 40 _ 16
_— =S = 30 ="
— =-10 = = 8
14 = = 20 =y
- 1 = -15 = = 4
iy = = 10 = 0
10 = -20 =3 =
= = = 0 = -4 N
—__ 8 = -25 = = P
—__ 6 = = 10 —
= -30 = =
- 4 = = =
~ 2 = -35 =20 = -16
—0 = -40 = -30 = -20
17°C —36°C 40°C 4°C
5) fallby28'C. 6) riseby31°C 7) fallby14°C. 8) riseby20°C.
C C
|15 — 15
=12 = 10
[ 9 —
— = 5
i =
-3 =0
-0 = -5
- -3 = -10
- _6 —
— = 1
- -9 = >
E 12 =-20
- -15 = -25
=15°C =8°C =2°C 10°C
- /







